41529 Step 3 Negative Numbers Worded Problems

( )
Greg is counting down from 36 in What temperature is Harper Town had a total of 4 points
steps of 10. 10 degrees lower than before being deducted 10 points
4 degrees Celsius? for being late to a game.
Will he say -6?
). How many points does the club
Justify your answer. - have now?

DAY Mon | Tues | Wed | Thur Fri
TEMPERATURE 4 -4 -6 0 7
(°c)

Use the temperature chart to answer the following questions:

Which was the coldest day?
How much did the temperature decrease from Monday to Tuesday?
How much warmer was it on the coldest day than on Friday?
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